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Parapets
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Parapet with AAC Block
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BC + U-Factor ‘TAGS’
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Clear Field Assemblies

UROOF

Roof Assembly
UROOF: 0.0152 Btu/hr-ft2-F 

Wall Assembly
UWALL: 0.0306 Btu/hr-ft2-F 

UWALL
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Measure 1D elements using 
’exterior dimensions’

L w
al

l

Lroof
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Do three calculations at once

Tag: Roof_Exterior

Tag: 
Wall_Exterior

Tag: 
Detail_Exterior

Lets see what its 
like with simple 
CMU block first….
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Calculating Psi (Y)

INPUTS
U-factor2D = 0.0189 Btu/hr·ft2·F
U-factorWall = 0.0306 Btu/hr·ft2·F
U-factorRoof = 0.0152 Btu/hr·ft2·F
LWall = 8.41’ (100.87”)
LRoof = 6.67’ (80.00”)
L EXTERIOR LENGTH = 16.24’ (194.83”)
∆T = 36°F

Psi Value = Losses2D – ∑ Losses1D

∆T
Losses2D = U-factor2D × (LEXTERIOR LENGTH) × ∆T

Losses1D = (U-factorWall × LWall × ∆T) + (U-factorRoof × LRoof × ∆T) 
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Calculating Psi (Y)

Ψ = (Losses2D – ∑ Losses1D) ÷ ∆T 

Ψ =  (11.05 – 12.91) ÷ 36°

Ψ =  -0.052 BTU/hr·ft·F

Losses2D ∑ Losses1D

U-factor2D  × LEXTERIOR LENGTH × ∆T
(U-factorWall × LWall × ∆T)

+
(U-factorRoof × LRoof × ∆T)

0.0189 × 16.24’ × 36°
(0.0306 × 8.41’ × 36°)

+
(0.0152 × 6.67’ × 36°)

= 11.05 BTU/hr·ft = 12.91 BTU/hr·ft
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Now lets try it with AAC Blocks…

AAC blocks: 
R-1.31/in

(0.109 W/mk)
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INPUTS
U-factor2D = 0.0173 Btu/hr·ft2·F
U-factorWall = 0.0306 Btu/hr·ft2·F
U-factorRoof = 0.0152 Btu/hr·ft2·F
LWall = 8.41’ (100.87”)
LRoof = 6.67’ (80.00”)
L EXTERIOR LENGTH = 16.24’ (194.83”)
∆T = 36°F

Calculating Psi (Y)

(Our NEW U-Factor)

Psi Value = Losses2D – ∑ Losses1D

∆T
Losses2D = U-factor2D × (LEXTERIOR LENGTH) × ∆T

Losses1D = (U-factorWall × LWall × ∆T) + (U-factorRoof × LRoof × ∆T) 
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Calculating Psi (Y)

Ψ = (Losses2D – ∑ Losses1D) ÷ ∆T 

Ψ =  (10.11 – 12.91) ÷ 36F

Ψ = -0.078 BTU/hr·ft·F

Losses2D ∑ Losses1D

U-factor2D × LEXTERIOR LENGTH × ∆T
(U-factorWall × LWall × ∆T)

+
(U-factorRoof × LRoof × ∆T)

0.0173 × 16.24’ × 36°
(0.0306 × 8.41’ × 36°)

+
(0.0152 × 6.67’ × 36°)

= 10.11 BTU/hr·ft = 12.91 BTU/hr·ft

So we went from
-0.052 to -0.078


